

prevention - protection - enforcement

County Distribution Detail Report through 09/01/2022

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2022	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
2/2022	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
3/2022	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
7/2022	949	2,005	27	2,981	\$3,726.25	\$92.81	\$3,633.44	0.70	\$2,543.41
							Entity Tota	al:	\$2,569.66
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,569.66
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2022	3,167	10,640	510	14,317	\$17,896.25	\$372.37	\$17,523.88	0.70	\$12,266.72
							Entity Tota	al:	\$12,266.62
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,266.62
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	855	1,198	4	2,057	\$2,571.25	\$57.36	\$2,513.89	0.70	\$1,759.72
							Entity Tota	al:	\$1,759.72
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$1,759.72
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,653	4,072	0	5,725	\$7,156.25	\$143.83	\$7,012.42	0.70	\$4,908.69

							Entity Tota Adjustmen Total Amor	t:	\$4,908.69 \$0.00 \$4,908.69
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	9,879	22,213	274	32,366	\$40,457.50	\$844.70	\$39,612.80	0.70	\$27,728.96
							Entity Tota	l:	\$27,728.96
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$27,728.96
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$0.36	\$-0.36	0.70	\$-0.25
7/2022	8,001	27,042	825	35,868	\$44,835.00	\$979.99	\$43,855.01	0.70	\$30,698.51
							Entity Tota	l:	\$30,698.26
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$30,698.26
Brule									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$0.52	\$-0.52	0.70	\$-0.36
7/2022	2,043	3,847	54	5,944	\$7,430.00	\$150.67	\$7,279.33	0.70	\$5,095.53
							Entity Tota	al:	\$5,095.17
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,095.17
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	524	468	1	993	\$1,241.25	\$27.32	\$1,213.93	0.70	\$849.75
							Entity Tota	al:	\$849.75

Adjustment: \$0.00

Total Amount: \$849.75

Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$0.03	\$-0.03	0.70	\$-0.02
7/2022	2,067	6,788	56	8,911	\$11,138.75	\$238.83	\$10,899.92	0.70	\$7,629.94
							Entity Total Adjustment	:	\$7,629.92 \$0.00
							Total Amou	nt:	\$7,629.92
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

7/2022 629 2,094 \$59.86 \$2,557.64 0.70 \$1,790.35 1,446 19 \$2,617.50 Entity Total: \$1,790.35 Adjustment: \$0.00 **Total Amount:** \$1,790.35

Charles Mix

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	2,344	5,596	15	7,955	\$9,943.75	\$201.28	\$9,742.47	0.70	\$6,819.73
							Entity Total	:	\$6,819.73
							Adjustment	:	\$0.00
							Total Amou	nt:	\$6,819.73
City of Box Elder, Me	eade Co								

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	58	3,012	110	3,180	\$3,975.00	\$79.58	\$3,895.42	0.70	\$2,726.79
							Entity Total	:	\$2,726.79
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,726.79
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Lines

Total Lines

Entity Amount Percent

7/2022	581	2,939	122	3,642	\$4,552.50	\$105.65	\$4,446.85	0.70	\$3,112.80	
							Entity Tota	l:	\$3,112.80	
							Adjustmen	t:	\$0.00	
							Total Amo	unt:	\$3,112.80	
City of Pierre, Hugh	es Co.									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
7/2022	3,135	11,477	1,405	16,017	\$20,021.25	\$413.10	\$19,608.15	0.70	\$13,725.71	
							Entity Tota	l:	\$13,725.71	
							Adjustmen	t:	\$0.00	
							Total Amo	unt:	\$13,725.71	
City of Sioux Falls, I	Lincoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
7/2022	4,153	27,950	3,068	35,171	\$43,963.75	\$923.47	\$43,040.28	0.70	\$30,128.20	
							Entity Tota	l:	\$30,128.20	
							Adjustmen	t:	\$0.00	
							Total Amo	unt:	\$30,128.20	
Clark										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
7/2022	1,127	2,390	47	3,564	\$4,455.00	\$98.31	\$4,356.69	0.70	\$3,049.68	
							Entity Tota	l:	\$3,049.68	
							Adjustmen	t:	\$0.00	
							Total Amo	unt:	\$3,049.68	

Clay

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$0.58	\$-0.58	0.70	\$-0.41
7/2022	1,466	7,771	190	9,427	\$11,783.75	\$254.71	\$11,529.04	0.70	\$8,070.33
							Entity Tota	al:	\$8,069.92

\$8,069.92 \$0.00

Adjustment:

Total Amount: \$8,069.92

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$0.31	\$-0.31	0.70	\$-0.22
7/2022	6,053	20,033	855	26,941	\$33,676.25	\$726.54	\$32,949.71	0.70	\$23,064.80
							Entity Tota Adjustmer		\$23,064.58 \$0.00
							Total Amo	unt:	\$23,064.58
Corson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	933	891	349	2,173	\$2,716.25	\$55.78	\$2,660.47	0.70	\$1,862.33
							Entity Tot	al:	\$1,862.33
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,862.33

Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	3,036	6,300	47	9,383	\$11,728.75	\$263.40	\$11,465.35	0.70	\$8,025.75
							Entity Tota	ıl:	\$8,025.75
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$8,025.75
D ·									

Davison

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$2.62	\$-2.62	0.70	\$-1.83
7/2022	4,220	14,462	485	19,167	\$23,958.75	\$500.10	\$23,458.65	0.70	\$16,421.06

Entity Total:	\$16,419.23
Adjustment:	\$0.00

Total Amount: \$16,419.23

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,800	3,595	119	5,514	\$6,892.50	\$141.19	\$6,751.31	0.70	\$4,725.92
							Entity Tota	l:	\$4,725.92
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,725.92
Deuel									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,454	3,037	103	4,594	\$5,742.50	\$122.48	\$5,620.02	0.70	\$3,934.01
							Entity Tota	ıl:	\$3,934.01
							Adjustmer	t:	\$0.00
							Total Amo	unt:	\$3,934.01

Douglas

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,081	2,191	58	3,330	\$4,162.50	\$87.56	\$4,074.94	0.70	\$2,852.46
							Entity Tota	l:	\$2,852.46
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,852.46

Edmunds

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,093	2,968	57	4,118	\$5,147.50	\$105.05	\$5,042.45	0.70	\$3,529.72
							Entity Tota	l:	\$3,529.72
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,529.72

Fall River

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	2,677	4,877	24	7,578	\$9,472.50	\$194.90	\$9,277.60	0.70	\$6,494.32

Entity Total: \$6,494.32

Adjustment: \$0.00

Total Amount: \$6,494.32

\$6,260.12 \$0.00

\$6,260.12

Entity Total:

Adjustment: Total Amount:

Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	670	1,525	24	2,219	\$2,773.75	\$56.88	\$2,716.87	0.70	\$1,901.81
							Entity Tota	l:	\$1,901.81
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,901.81
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,738	5,463	105	7,306	\$9,132.50	\$189.47	\$8,943.03	0.70	\$6,260.12

_	
Gregory	/

Reporting	Period Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,490	3,531	6	5,027	\$6,283.75	\$136.99	\$6,146.76	0.70	\$4,302.73
							Entity To	otal:	\$4,302.73
							Adjustme	ent:	\$0.00
							Total Am	nount:	\$4,302.73
							Adjustmo	ent:	\$0.00

Haak	on
------	----

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	922	1,332	0	2,254	\$2,817.50	\$56.67	\$2,760.83	0.70	\$1,932.58
							Entity Tota	al:	\$1,932.58
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,932.58
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,395	3,999	9	5,403	\$6,753.75	\$136.92	\$6,616.83	0.70	\$4,631.78

							Entity Tota	al:	\$4,631.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,631.78
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	942	2,608	46	3,596	\$4,495.00	\$98.68	\$4,396.32	0.70	\$3,077.42
							Entity Tota	al:	\$3,077.42
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,077.42
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	745	3,141	53	3,939	\$4,923.75	\$109.13	\$4,814.62	0.70	\$3,370.23
							Entity Tota	al:	\$3,370.23
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,370.23
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	622	841	0	1,463	\$1,828.75	\$47.04	\$1,781.71	0.70	\$1,247.20
							Entity Tota	al:	\$1,247.20
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,247.20
Hughes									
Hughes Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	Telecom Lines	Wireless Lines		Total Lines	Surcharge \$0.00	Admin Fee \$0.16	Net Surcharge \$-0.16		Entity Amount \$-0.11
Reporting Period			Lines					Percent	
Reporting Period	0	0	Lines 0	0	\$0.00	\$0.16	\$-0.16	Percent 0.70 0.70	\$-0.11

Total Amount: \$3,324.56

Hutchinson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2022	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
2/2022	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
3/2022	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
4/2022	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
5/2022	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
6/2022	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
7/2022	2,503	5,199	60	7,762	\$9,702.50	\$212.14	\$9,490.36	0.70	\$6,643.25
							Entity Tota	al:	\$6,695.75
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,695.75
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	572	1,065	12	1,649	\$2,061.25	\$41.67	\$2,019.58	0.70	\$1,413.71
							Entity Tota	al:	\$1,413.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,413.71
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	558	867	9	1,434	\$1,792.50	\$36.29	\$1,756.21	0.70	\$1,229.35
							Entity Tota	al:	\$1,229.35
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,229.35
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	730	1,344	29	2,103	\$2,628.75	\$53.06	\$2,575.69	0.70	\$1,802.98
							Entity Tota	al:	\$1,802.98
							Adjustmer	nt:	\$0.00

Total Amount: \$1,802.98

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	478	714	10	1,202	\$1,502.50	\$31.22	\$1,471.28	0.70	\$1,029.90
							Entity Tota	al:	\$1,029.90
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,029.90
Kinasbury									

Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	983	3,959	100	5,042	\$6,302.50	\$141.19	\$6,161.31	0.70	\$4,312.92
							Entity Tota	1:	\$4,312.92
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,312.92

Lake

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	2,312	9,061	2,928	14,301	\$17,876.25	\$390.57	\$17,485.68	0.70	\$12,239.98
							Entity Tota	d:	\$12,239.98
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$12,239.98

Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$0.11	\$-0.11	0.70	\$-0.08
7/2022	6,628	18,354	302	25,284	\$31,605.00	\$668.80	\$30,936.20	0.70	\$21,655.34
							Entity T	otal:	\$21,655.26

Adjustment:\$0.00Total Amount:\$21,655.26

Lincoln

Telecom Lines Wireless Lines

s VOIP Lines

Total Lines

Surcharge

Admin Fee Net Surcharge

Entity Entity Amount Percent

4/2022	0	0	0	0	\$0.00	\$0.78	\$-0.78	0.70	\$-0.55
7/2022	3,267	25,075	1,697	30,039	\$37,548.75	\$853.65	\$36,695.10	0.70	\$25,686.57
							Entity Tota	al:	\$25,686.02
							Adjustmer		\$0.00
							Total Amo		\$25,686.02
Lyman									• • • • • • •
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	973	1,861	392	3,226	\$4,032.50	\$85.92	\$3,946.58	0.70	\$2,762.61
							Entity Tota	al:	\$2,762.61
							Adjustmer		\$0.00
							Total Amo	unt:	\$2,762.61
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,373	2,972	71	4,416	\$5,520.00	\$123.40	\$5,396.60	0.70	\$3,777.62
							Entity Tota	al:	\$3,777.62
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,777.62
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,714	4,304	30	6,048	\$7,560.00	\$155.79	\$7,404.21	0.70	\$5,182.95
							Entity Tota	al:	\$5,182.95
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,182.95
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	858	1,547	22	2,427	\$3,033.75	\$75.83	\$2,957.92	0.70	\$2,070.54
							Entity Tota	al:	\$2,070.54
							Adjustmer	nt:	\$0.00

Total Amount: \$2,070.54

Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	2,858	19,191	132	22,181	\$27,726.25	\$595.85	\$27,130.40	0.70	\$18,991.28
							Entity Tota	:	\$18,991.28
							Adjustment	::	\$0.00
							Total Amou	int:	\$18,991.28
Mellette									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	527	732	6	1,265	\$1,581.25	\$31.94	\$1,549.31	0.70	\$1,084.52
							Entity Tota	al:	\$1,084.52
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,084.52

Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	823	1,686	22	2,531	\$3,163.75	\$65.72	\$3,098.03	0.70	\$2,168.62
							Entity Tota	d:	\$2,168.62
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$2,168.62

Minnehaha

Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$11.61	\$-11.61	0.70	\$-8.13
7/2022	35,125	159,109	6,863	201,097	\$251,371.25	\$5,427.95	\$245,943.30	0.70	\$172,160.31
							Entity Tota	al:	\$172,152.18

Reporting Period

Telecom Lines Wireless Lines

VOIP Total Lines

s Surcharge

e Admin Fee

Net Surcharge

Adjustment:

Total Amount:

Entity Entity Amount Percent

\$0.00

\$172,152.18

7/2022	1,047	4,808	41	5,896	\$7,370.00	\$165.68	\$7,204.32	0.70	\$5,043.02
							Entity Tota	al:	\$5,043.02
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,043.02
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$7.44	\$-7.44	0.70	\$-5.21
7/2022	21,795	86,769	2,519	111,083	\$138,853.75	\$2,982.63	\$135,871.12	0.70	\$95,109.78
							Entity Tota	al:	\$95,104.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$95,104.57
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,611	2,268	7	3,886	\$4,857.50	\$107.27	\$4,750.23	0.70	\$3,325.16
							Entity Tota	al:	\$3,325.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,325.16
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	997	1,939	13	2,949	\$3,686.25	\$74.02	\$3,612.23	0.70	\$2,528.56
							Entity Tota	al:	\$2,528.56
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,528.56
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	2,988	5,270	18	8,276	\$10,345.00	\$231.39	\$10,113.61	0.70	\$7,079.53
							Entity Tota	al:	\$7,079.53
							Adjustmer	nt:	\$0.00

Total Amount: \$7,079.53

Adjustment: Total Amount: \$0.00

\$5,381.48

Sanborn

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	699	1,792	17	2,508	\$3,135.00	\$63.32	\$3,071.68	0.70	\$2,150.18
							Entity Tota	l:	\$2,150.18
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,150.18
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,590	4,584	105	6,279	\$7,848.75	\$160.92	\$7,687.83	0.70	\$5,381.48
							Entity Tota	l:	\$5,381.48

Stanley

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	600	2,240	67	2,907	\$3,633.75	\$76.11	\$3,557.64	0.70	\$2,490.35
							Entity Total:		\$2,490.35
							Adjustment:		\$0.00
							Total Amo	unt:	\$2,490.35

Sully

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	547	1,201	2	1,750	\$2,187.50	\$43.80	\$2,143.70	0.70	\$1,500.59
							Entity Tota	\$1,500.59	
							Adjustmen	t:	\$0.00
							Total Amount:		\$1,500.59
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	0	113	2	115	\$143.75	\$15.23	\$128.52	0.70	\$89.96

								.	\$89.96
							Entity Total: Adjustment:		
							Total Amo		\$0.00
Tripp							Total Amo	unt:	\$89.96
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	2,036	4,078	34	6,148	\$7,685.00	\$159.37	\$7,525.63	0.70	\$5,267.94
							Entity Tota	al:	\$5,267.94
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,267.94
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,827	6,506	66	8,399	\$10,498.75	\$214.77	\$10,283.98	0.70	\$7,198.79
							Entity Tota	al:	\$7,198.79
							Adjustmer	nt:	\$0.00
							Total Amount:		\$7,198.79
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$0.14	\$-0.14	0.70	\$-0.10
7/2022	2,342	11,565	609	14,516	\$18,145.00	\$452.41	\$17,692.59	0.70	\$12,384.81
							Entity Total:		\$12,384.71
							Adjustmer	nt:	\$0.00
							Total Amount:		\$12,384.71
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2022	1,669	3,694	330	5,693	\$7,116.25	\$145.23	\$6,971.02	0.70	\$4,879.71
									• · · ·

Entity Total: \$4,879.71

Adjustment: \$0.00

Total Amount: \$4,879.71

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	0	0	0	0	\$0.00	\$0.20	\$-0.20	0.70	\$-0.14
7/2022	4,381	17,003	429	21,813	\$27,266.25	\$583.83	\$26,682.42	0.70	\$18,677.69
							Entity Total: Adjustment:		\$18,677.55 \$0.00
							Total Amou	unt:	\$18,677.55
TOTALS	180,488	635,697	26,254	842,439	\$1,053,048.75	\$22,698.81	\$1,030,349.94		